Numatic International Spare Parts
Mode' NO: DRUM STYLE 1 - EXPLODED DIAGRAM

DRAWING: DRW-15614
2311212014

Numatic International Spare Parts

Model No: DRUM STYLE 1 - EXPLODED DIAGRAM

ITEM:

PART No:

Description

QTY.

COMMENTS:

WHEEL TRIM

CONTACT NUMATIC FOR DETAILS

219105

No8 X 5/8 INCH LONG POZI PAN PLASTITE SCREW

227868

WHEEL HUB FOR 2 SHOT WHEEL

227640

2 SHOT WHEEL ASSEMBLY

DRUM STYLE 1 - PLASTIC 200 - MOULDING ONLY

CONTACT NUMATIC FOR DETAILS

237578

Wand Dock (Eco)

237119

FRONT FIT BAG CONNECTOR

204000

40MM PU-TYRED BLACK TWIN WHEEL CASTOR

325958

RED HENRY SNAP FIT FACE

237311

HETTY FACE MOULDING

Tlolo|e|Njo|alsjw N~

237312

HARRY FACE MOULDING

(N[ w (N[22 |INNINN

COMPATIBLE FILTER BAGS -
SEE DRW-15712 FOR DETAILS

DESCRIPTION

ITEM NO.

QTY PER PACK.

NVM-1CH HEPAFLO DUST BAGS

604015

10




Numatic International Spare Parts
Mode| NO: HEAD STYLE 1 ASSEMBLY 1-STAGE 2-SPEED EXPLODED

Models: HVR, HET, HHR, HVX, HVR*M, VNR, NRV, HDK, HDX, HDH, EVR

910981

DRAWING: DRW-17807

20/07/2020

Numatic International Spare Parts

OLD STYLE REELER

ISS:A19 Model No: HEAD STYLE 1 ASSEMBLY 1-STAGE 2-SPEED EXPLODED
ITEMNO. | PART NUMBER DESCRIPTION QTY COMMENTS:
CONTACT NUMATIC
1 229619 COVER 1 FOR DETAILS
2 227120 HANDLE - HVR/HET/NRV 1
3 237687 BLACK CABLE ENTRY - DEVELOPMENT - OPTION 2 1
4 902996 REELER - UPPER 1
5 906968 REELER - LOWER (PUSH FIT SPRING CONTACTS) WITH INSERTS 1
6 902525 REELER CONTACT SPRING 2
7 291151 M4 X 10MM LONG T20 SEMS SCREW Z/PL - PRODUCT CODE 8.8 - TX20 HEAD 2
8 230096 SUPPRESSOR CAPACITOR ASSEMBLY WITH DISCHARGE RESISTOR (AS SUPPLIED) 1
9 229617 CABLE REEL WINDER KNOB ASSY 1
10 291082 #8 SCREW 1"L T20 PAN HEAD P/L THREAD FORMING 10
1 206491 CABLE REEL MOULDING 1 OLD REELER ONLY
12 227103 CONTACT BUSH 2 OLD REELER ONLY
13 230203 SPRING CONTACT (DOMED) 2 OLD REELER ONLY
14 227145 CONNECTING STRIP 2 OLD REELER ONLY
15 219009 M4 BRASS TAPPEX INSERT 2 OLD REELER ONLY
16 227133 CABLE REEL COVER 1 OLD REELER ONLY
17 905922 REELER PLATE - STANDARD (STAR LOCK & BLANK) 1 OLD REELER ONLY
18 291152 NO08.1/2 INCH LG.T20.SCREW.Z/PL.PLASTITE 3 OLD REELER ONLY
19 227142 OUTER CONTACT RING 1
20 227141 INNER CONTACT RING 1
21 237745 TOP MOTOR HOUSING (HEAD STYLE 1 AND 9) WITH PCB SUPPORT 1
22 229623 SWITCH COVER 1
23 229614 MOTOR PLATE BI -MATERIAL 1
24 230097 AXIAL FERRITE BEAD 17.5 X 9.5 X 28.5 (REF 742 700 9) 1
25 901009 ROLLER WHEEL 3
26 237674 AIRGUIDE (DL1 TYPE) 1
27 203038 WRAP-ACOUSTIC 1
28 237606 BOTTOM MOTOR HOUSING (BI-MATERIAL) 1
29 229622 TOGGLE (BI-MATERIAL) 2
30 220552 RED ROCKER SWITCH (WHITE PRINT) 1
31 220243 GREEN ROCKER SWITCH (BLACK PRINT) HI LO 1
32 208437 NUMATIC 2 SPEED CONTROL PCB 1
236115 10.0MT X 0.75MM X 2 CORE (H05 V2V2-F) UK PLUG
236116 12.5MT X 1MM X 2 CORE (HO05 V2V2-F) UK PLUG CONTACT NUMATIC
33 1 FOR MORE DETAILS
236150 10.0MT X 1MM X 2 CORE (H05 V2V2-F) EURO PLUG IF REQUIRED
236151 12.5MT X 1MM X 2 CORE (H05 V2V2-F) EURO PLUG
34 205840 230V SINGLE STAGE THRO FLOW FAN MOTOR (DLI 653T) TCO (620) 1
35 237089 BOTTOM MOTOR GASKET - CUP MOTOR 1
36 237480 ADAPTOR MOTOR (DL1 603T) 1

WIRING DIAGRAMS TBC



Numatic International Spare Parts
Mode| NO: HEAD STYLE 1 ASSEMBLY 1-STAGE 2-SPEED EXPLODED

Models: HVR, HET, HHR, HVX, HVR*M, VNR, NRV, HDK, HDX, HDH, EVR

910981

DRAWING: DRW-17807

18/08/2020

Numatic International Spare Parts

OLD STYLE REELER

ISS:A20 Model No: HEAD STYLE 1 ASSEMBLY 1-STAGE 2-SPEED EXPLODED
ITEMNO. | PART NUMBER DESCRIPTION QTY COMMENTS:
CONTACT NUMATIC
1 229619 COVER 1 FOR DETAILS
2 227120 HANDLE - HVR/HET/NRV 1
3 237687 BLACK CABLE ENTRY - DEVELOPMENT - OPTION 2 1
4 902996 REELER - UPPER 1
5 906968 REELER - LOWER (PUSH FIT SPRING CONTACTS) WITH INSERTS 1
6 902525 REELER CONTACT SPRING 2
7 291151 M4 X 10MM LONG T20 SEMS SCREW Z/PL - PRODUCT CODE 8.8 - TX20 HEAD 2
8 230096 SUPPRESSOR CAPACITOR ASSEMBLY WITH DISCHARGE RESISTOR (AS SUPPLIED) 1
9 229617 CABLE REEL WINDER KNOB ASSY 1
10 291082 #8 SCREW 1"L T20 PAN HEAD P/L THREAD FORMING 10
1 206491 CABLE REEL MOULDING 1 OLD REELER ONLY
12 227103 CONTACT BUSH 2 OLD REELER ONLY
13 230203 SPRING CONTACT (DOMED) 2 OLD REELER ONLY
14 227145 CONNECTING STRIP 2 OLD REELER ONLY
15 219009 M4 BRASS TAPPEX INSERT 2 OLD REELER ONLY
16 227133 CABLE REEL COVER 1 OLD REELER ONLY
17 905922 REELER PLATE - STANDARD (STAR LOCK & BLANK) 1 OLD REELER ONLY
18 291152 NO08.1/2 INCH LG.T20.SCREW.Z/PL.PLASTITE 3 OLD REELER ONLY
19 227142 OUTER CONTACT RING 1
20 227141 INNER CONTACT RING 1
21 237745 TOP MOTOR HOUSING (HEAD STYLE 1 AND 9) WITH PCB SUPPORT 1
22 229623 SWITCH COVER 1
23 229614 MOTOR PLATE BI -MATERIAL 1
24 230097 AXIAL FERRITE BEAD 17.5 X 9.5 X 28.5 (REF 742 700 9) 1
25 901009 ROLLER WHEEL 3
26 237674 AIRGUIDE (DL1 TYPE) 1
27 203038 WRAP-ACOUSTIC 1
28 237606 BOTTOM MOTOR HOUSING (BI-MATERIAL) 1
29 229622 TOGGLE (BI-MATERIAL) 2
30 220552 RED ROCKER SWITCH (WHITE PRINT) 1
31 220243 GREEN ROCKER SWITCH (BLACK PRINT) HI LO 1
32 208437 NUMATIC 2 SPEED CONTROL PCB 1
236115 10.0MT X 0.75MM X 2 CORE (H05 V2V2-F) UK PLUG
236116 12.5MT X 1MM X 2 CORE (HO05 V2V2-F) UK PLUG CONTACT NUMATIC
33 1 FOR MORE DETAILS
236150 10.0MT X 1MM X 2 CORE (H05 V2V2-F) EURO PLUG IF REQUIRED
236151 12.5MT X 1MM X 2 CORE (H05 V2V2-F) EURO PLUG
34 205840 230V SINGLE STAGE THRO FLOW FAN MOTOR (DLI 653T) TCO (620) 1
35 237089 BOTTOM MOTOR GASKET - CUP MOTOR 1
36 237480 ADAPTOR MOTOR (DL1 603T) 1

WIRING DIAGRAMS TBC



ExplodedSpare Parts HVX160-11 Henry xTrA)

Num Description Num
1 Reeler Handle 227120
2 11 Inch 160 Drum With Accessory with Storage (RED) + Henry Face 902391
Wheel hub for 2 shot wheel 227868
3 Henry wheel 2 shot moulding 227640
NO8.5/8 Inch long pozi pan screw z/pl plastite 219105
4 Coloured wheel disc (RED) 227687
5 40mm Twin wheel castor with PU tyre 204000
6 DRY 11 Inch diffuser neck 237009
7 11 Inch Henry snap face (RED) 904647
8 11" TriTex filter (Dry only use) 909560
PACK OF 3 NVM-1CH HepaFlo bags 909291
9 BOX OF 5 NVM-1CH HepaFlo bags 907076
BOX OF 10 NVM-1CH HepaFlo bags 907075
10 230V Single stage TF motor (DLI 653T) TCO (6210820147) (UK) 908947
10 Metre X 0.75MM X 2 Core (UK plug) 236115 8 Metre X 18AWG X 2 Core (CSA plug) 904060
11 10 Metre X 0.75MM X 2 Core (European plug) 236300 1 10 Metre X 0.75MM X 2 Core (South Africa plug) 236036
10 Metre X 0.75MM X 2 Core (Swiss plug) 236047 10 Metre X 0.75MM X 2 Core (Australia plug) 236044

GenuineAccessories (909146 Kit XS0)

i

\\\W\)\,\,\,\J!!!L‘!M%%}’/.

G
@
Q

e— @f

909563 32mm Stainless
Steel Tube Set ( &
909564 Handy Kit
[ )

e — 909585
909555 300 MultiFlo Brush 909553 AiroBrush 270 Combination Floor Tool
@ www.numatic.co.uk —
Numatic International Limited, Chard, Somerset, TA20 2GB UNITED KINGDOM: www.numatic.co.uk GERMANY: www.numatic.de FRANCE: www.numatic.fr
C:LELY Telephone: 01460 68600 NETHERLANDS: www.numatic.nl SWITZERLAND: www.numatic.ch ~ SOUTH AFRICA: www.numatic.co.za Specification subject to change without prior notice
/ -, Fax: 01460 68458 PORTUGAL: www.numatic.pt SPAIN: www.numatic.es www.numatic.co.uk © Numatic International Limited

MED-000902 01/21 (A02)



ExplodedSpare Parts HVX200-11 (HENRY XTRA

Num Description Num
1 Reeler handle 227120
2 12 Inch 200 Drum with accessory with Storage (RED) + Henry face 902717
Wheel hub for 2 shot wheel 227868
3 Henry wheel 2 shot moudling 227640
NO8.5/8 Inch long pozi-pan screw z/pl plastite 219105
4 Coloured wheel disc (RED) 227687
5 40mm Twin wheel castor with PU tyre 204000
6 DRY 12 Inch diffuser neck 237119
7 Red Henry snap face fit printed 901606
8 12" TriTex filter (Dry only use) 909559
Pack of 3 NVM-1CH HepaFlo bags 909291
9 Box of 5 NVM-1CH HepaFlo bags 907076
Box of 10 NVM-1CH HepaFlo bags 907075
10 230V Single stage thru flow fan motor (DLI 653T) TCO (620) 908947
1 10 Metre X 0.75MM X 2 Core (UK plug) 236115 1 8 Metre x 18AWG x 2 Core(CSA plug) 904060
11 10 Metre X 0.75MM X 2 Core (European plug) 236300 11 10 Metre X 1.00MM X 2 Core (South Africa plug) 236036
11 10 Metre X 0.75MM X 2 Core (Swiss plug) 236047 11 10 Metre X 1.00MM X 2 Core (Australia plug) 236044

GenuineAccessories (909146 Kit XS0)

]

&

g,
0y
@

909563 32mm Stainless
Steel Tube Set

— KABN@@

4

909585 909564 Handy Kit
Combination Floor Tool

909555 MFB 300 32mm MultiFlo Brush 909553 AiroBrush 270
@ www.numatic.co.uk —
Numatic International Limited, Chard, Somerset, TA20 2GB UNITED KINGDOM: www.numatic.co.uk GERMANY: www.numatic.de FRANCE: www.numatic.fr - _ _ _ _
Gk Telephone: 01460 68600 NETHERLANDS: www.numatic.nl SWITZERLAND: www.numatic.ch SOUTH AFRICA: www.numatic.co.za Spec’f"’atl{?” S“b{(eg tl(\)/ Chagg‘i ";”tho’}’_t pr "I’rL '_701;’03
o + Fax: 01460 68458 PORTUGAL: www.numatic.pt SPAIN: www.numatic.es www.numatic.co.u umatic International Limite

MED-000909 02/22 (A02)



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2


